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AP60/AP60W 1598% 9:30~10:45 25¢8% 11:40~12:55
NEAL| 5T8%| 59 FE| 14 EF4 FhE 1 2 3 4 5 6 |XBH| §
1 1 4 | M| ELE BLASE R 95 89 90 90 86 87 10 537
2 | 1 5 |M| F& JF % 3k 1R 86 87 86 86 86 88 5 519
3 | 1 6 | M = R 86 88 84 89 90 80 6 517
4 | 2 2 |W| BT IMNE FE 86 84 90 84 84 87 5 515
5 | 2 5 |M| FHH HFE 3L 84 77 84 89 82 85 4 501
6 | 2 7 |[M| FEEE fE— I IR 80 91 83 82 83 78 3 497
7 | 1 3 | M BA B 3= 85 82 82 77 83 83 1 492
OP| 2 3 |M| EE& @&l AR 80 88 81 86 87 84 5 506
HR40 1578 9:30~10:30
NEAL| 5T8%| 59 FE| 14 EF4H FhE 1 2 3 4 |XEB&E| §
1 1 7 |M| A EER IR 84 80 85 92 1 341
ARG60/AR60W 15488 9:30~10:45 2518F 11:40~12:55
NEL| 58F |5 RE| 1% EF4 Bl 1 2 3 4 5 6 (XBEm| 3
1 1 16 |W| WK FiE i 103.4 | 104.7 | 103.3 [ 103.9 |103.6 |103.6 | 46 | 6225
2 1 17 |W| WA #F |t¥X1av4y)L—F[1052 [101.6 |104.1 |103.0 [103.1 | 978 | 43 | 6148
3 | 1 14 |M| KA #A I 100.4 | 100.4 |103.4 [102.2 [102.2 [1028 | 27 | 611.4
4 1 15 |W| Mm% #FAM RN R 100.0 | 98.2 [101.7 | 104.0 |100.9 |[101.0 | 35 | 6058
5 1 10 |M| 8RB A% % 3k 8 99.3 1015 | 99.3 | 99.2 |101.7 |101.5 | 30 | 6025
6 | 1 9 |M| FkHE FHB S 18 918 | 90.2 | 946 | 912 | 90.3 | 99.1 8 557.2
E—LBE[ETE]
BP60/BP60OW 158 9:25~10:10 2518 10:40~11:25
NEAL| 5T8%| 57 RE| 1E EF4H FhE 1 2 3 4 5 6 |XB&| 3
1 1 25 |W| {E4/K EH R 5 95 88 89 91 92 90 6 545
50mEE i [AGEH - /]
FR3P/R3P 18485 9:40~11:10 25t8f 11:50~13:20
NEAL| 5T8%| 57 RE|1E EF4H FilE K1 K2 P1 P2 S1 S2 (XBEm| 3
1 2 5 |W| WA #BF |[EX1awdI)L—F 970 | 970 | 950 | 990 | 940 | 940 | 24 576
2 | 2 9 | M ME Z RIGE 90 96 93 98 96 95 16 568
3 | 2 7 |M| EH EBKX |EXavTIIL—T| 95 94 94 98 92 92 19 565
4 | 2 6 |W| ml &= ) TR 93 95 97 96 93 85 16 559
FR60PR/R60PR 1548 9:40~10:30 25t8E 11:50~12:40
NEAL| 5T8%| 57 RE|1E EF4H Bl 1 2 3 4 5 6 |[XBm| 3
1 2 22 | W g RTE 8 103.8 [ 103.2 | 100.5 | 104.7 |102.3 {1030 | 35 | 6175
2 | 1 21 | M MEr RIGE 102.3 |101.0 | 98.3 |[104.3 [1035 [103.0 | 30 | 6124
3 1 23 |M| ¥R ®BHE 3= 102.3 | 102.6 | 103 | 102.1 | 100.9| 991 | 30 | 610.0
4 | 1 19 | M miE & 3= 102.2 | 101.6 |102.7 | 99.1 [102.7 |101.2 | 25 | 609.5
5 | 2 20 |M| KH H#F E 3 98.0 [100.6 |100.0 | 99.3 | 99.4 [101.3 | 18 | 598.6
6 | 2 18 (M| JIIF Esh % 3k I8 102.6 | 996 | 994 |1004 | 975 | 979 | 18 | 5974
7 1 13 |M| XKEB HKZE R E 101.4 |101.2 | 999 | 963 | 959 | 954 | 15 | 590.1
8 | 2 12 | M| J\F&kE & % 3k I8 97.8 | 97.4 |100.7 | 943 | 97.3 | 970 | 12 | 5845
9 | 2 16 |M| BBER X % 3k IR 984 | 984 [ 991 | 970 | 925 | 96.7 | 16 | 582.1
10 | 1 15 | M Bl &5 % 3k IR 900 | 964 | 96.3 | 937 | 965 | 98.1 11 571.0
11| 2 14 | M JKEE EE B3 96.4 | 942 | 964 [100.3 | 888 | 939 | 15 | 5700
12 1 17 | M INK E— e 3k 1B 96.6 | 920 | 93.7 | 93.0 | 950 | 98.3 8 568.6
FR60PRSC ({&:E) 1518 9:40~10:30
NEr| 5T8%| 59 FE|1E EFH FhlE 1 2 3 4 5 6 |(XBm| 3
1 1 2 |M| FPM FE x5 909 | 929 | 957 | 935 | 929 | 930 7 558.9




